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(1) Falling head test
(2) Optimum moisture content
(3) Critical hydraulic gradient
(4) Coefficient of consolidation

(5) Passive earth pressure coefficient N
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=~ (3t 20%) Please answer the following questions:

(1) Draw a graph to show “compression index” in soil mechanics. (3%)

(2) Why does consolidation settlement take years? (3%)

(3) What causes soil consolidation? (3%)

(4) What is the definition of OCR in soil mechanics? (3%)

(5) What are the “raw data” you obtain with a CD triaxial test? Plot graphs to show
it. (4%)

(6) Based on the raw data, how to obtain the friction angle and cohesion of the soil?
Plot graphs to show it. (4%)
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Water supply
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